HERQ BEANT—2W) SRS EITBADT o r—bT—%2 (Excel 74— YN £ HELBLET,

£HBRINER
148
=R
£EHN281EE X7EMEE
o7 %ER [E5C BT o
c& £2nis B |MES 8BS |yan PR | 200 Y | ETH |F47- (R
ENA E5h THEE | %ML £z T B |0RE A0 205 [hoT STV ey (FE woh |2 , Mt mov (BT S0
e | (5T [BIOE (Lol [T (840 |[2he (B0 |Th, (9T (882 (285 58 b [T/ 2oL (ELE |(von |rpgx R ELIAOD B (B (A2l (E0T B |GRe

S N e s i Py
[Fo% [kBE |ATH (I |52 [BES (A28 [Toih [2EH [HULE [BAIL[FHC [ALE [bLL [pFF [TEEhso (BLD oy [z, [THIT |0/ FER( i (B [Td. |z, ;ﬁf KR |#AS% [#AF
YEZ |BZh [TH® [£EZ [AiTE [OH1E (AT [K<TE(RIFE [DAT [THH [EMT [KTEM|FEIN (2D [WEL [IBE) |2 EAY (2, K |Lot (2D (A0 [EET hic 12, % [AFA [EFIC kec [BE [LaT |RTh
&1 [HEES (2 B0 3 [bh3 |3 [P (1B |3 |THE (D B |ED  |TE=3 |TEBR (B |HL |TER |TEB (WK |YvR (HEE(E [HD KW (L |TER (#2532 |AHE[HE |3
—vAF

aoJw 1 6 6 6 6 6 5 6 5 6 6 6 5 6 5 5 5 6 5 5 5 6 5 5 6 6 5 6 5| 155 6 5
JIVEH
TART 2 5 6 6 5 5 5 ) 5 6 6 5 5 5 5 6 5 5 5 5 5 5 5 5 5 5 5 5 5| 145 5 4
IOF A
Epd= 3 5 5 4 5 5 5 6 6 4 5 5 4 4 5 4 5 5 5 5 5 5 4 5 4 4 5 5 6] 135 5 4
B
%% 512818 B an

(ALY FZR [BHC = Z\ B -

fe iz - [BU (mEA | e 2 87 R B0 | Aok ETH |347- KRR

FNE a5 THEE |KML Moo [veE zo |77 [see |BLE | 260 <on |BIf|, MBF2 BT |TH |G Ehoks

pE b 9T (FoE (L [T |8<o |[he 850 [T g (280 |VEMIcsa |8 Plz/o |0fL [kt Lo |[=4F [pgl [(AQD W [Bap (HEL (E03 RO

. —_— N 7-~
[Fo% [kBE |ATH (I |52 [BES (A2 [Toih [Cept [BLS (@A (752 [CSE bl [(BFEF L [Leo [BLB [57 [k, |[Thif [PR* (RER(Lcd, (B [td. Bz, {,‘?t KR  |&19%
YEZ |BEHI |THY [££X |HTE [OAIF |HNT |[K(TE|KIFE |2HT[Toh |ENT [BTE(FE3A|ZED[(WEL |ITRE) [2EA |12, KL|Loh |BD0AY |B0D [fEET |[RAIC IZ.F [AFA |EFIC [sgc |BEE |#EN
&8 [HEBS (% BV |3 >h3 |3 P B |32 |chE |ED 1B |25 |B |TER (B B0 |TER [TER |#K (YD |HEE (B (BB KWL |HEL |[TEB X5 (25 |AHE|Hof
—vUAx

aovw 1 6 6 6 6 6 5 6 5 6 6 6 6 6 5 5 6 6 5 5 5 6 5 6 6 6 5 6 5| 158 5
INT7A

TARYT 2 5 6 6 6 6 6 5 5 6 6 5 6 5 5 6 5 5 6 5 5 5 5 5 6 5 5 5 5 151 5
TT

e 3 5 5 4 5 5 5 6 6 4 5 6 4 4 5 4 5 6 6 6 5 6 6 5 5 6 5 5 6] 145 5




